CHAPTER 2 NOTES:
—~2.1 & 2.2: Solving Inequalities using Addition/Subtraction

When Graphing Inequalities:
< > open circle. 0 *arrow goes the same way the sign points
< z closed circle (@ *wvariable must always come first when graphing an inequality.
If not, then turn it around.

< No More Than = No Less Than

At Most At least
ex) Write the inequality ex) Graph x=z=4 ex) Graph x <-2.5
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*Tell whether the value is a solution of the inequality
ex) x=-11 3Ix+20<-13,
u

~ex) n=6 2n+9 =3l
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*SOLVE: | Pretend = = Turn Tha E1rll- Y
ex) x-92<-15 ex) -Er?:u-% -5 ﬂ_l ¢ -b ex) -21zy+67
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X+ 73.3 +16-9 <52.8
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X+ Yyo.p <52.8

Ex) |Perimeter <528

23.7 ®< 2.2
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*SET UP & SOLVE:

2
ex) Mrs. Li is shopping for an I Pad. The type she wants i5§9- So far she has saved
$374. Find the possible amounts of money she needs to save to buy the I Pad she wants.

Equalion : X +33Y 2 599 Mu.Li neads B Sane
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ot most 21 tpad .
ex) Miss Manus Emredfur a vacation. Her ticket cr.:sTs $EE‘5‘ and her hotel costs $53'.T

How much money does she have left for spending? Mﬁ,s Manﬂ hﬂi ﬂt wost

w2 X 1289 + b33 {2000 .
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*SET UP &
ex) A numher ecr-ensed I:*_.r negmwe 6 i m fifteen.
P { E'} -

ex) SE.venﬁncrmseaby a number isfnn less Thnn]nﬂnﬁue twelve
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*Define a variable & write an inequality. Then graph the solutions.
ex) Mrs. Logan's class can hold|no more Than|32 students

X €32 c(-_%?# —
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ex) A store's employees E.nrnE-,EE per hour

X 2 8.25 —
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NOTES 2.3: Solving Inequalities using Multiplication & Division
n both sides

o o
*KEY: When you are multiplying or dividing by um-nu
FLIP THE INEQUALITY SIGNII

*variable must come first to graph
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ex) —3x <18 ex) = < x S
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*Set up the ineguality & solve:

ex) The n‘l’ four and x isl:’.‘:ﬂ
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ex) Thuf _Ennd negative five isfnu less 1hn;-?ﬂgﬂuﬂve ten.

.l —F-}—|ﬂ{'5J = < 50
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ex) Mr. Diaz earns $9.25 per hour working at Dunkin Donuts. How many hours must Mr. Diaz
¥ 7 :
work to earnfat least|$100? > Aly. Dl“} must work at

Epafion . 425 2100\t 0.8 hours T tarn $100.
X 210.8
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